%Y G0188-70

Garage F GV2 595x575 70

Plan/Grundplan

Scale/MaRstab

22.09.2023

7.0x13.5

Profile/Profil

Qo
Qve,
‘— -...

o

hansa2




, 6150 )
1070 2770 . 2770 _1001do
100 70 70
‘ 5950 ,
) 5750 ,
I, 5610 r\
é I e S o‘%:
(:::)447 e | 3 !!I I!! =
| ik %ﬂ 2
‘ [l -
H LN
N o
‘ \\ 28 EN
I o
o ‘ I i
g I I 2
| : 1 | i
[ —
| || AT -
| 2§§3§3 PN
‘ [ ‘E;
@7 o ol oo 8% ‘ ‘ 3027 IT]2 B =3
AR = Al - - — — — — = H+ ::2
12 120 m -
| i -
LN X
‘ H Db 2
I o
| : \3
I = oT
2 H SR
I
I xtn
| el |
I ,J,%E g
‘ I S&
H [mmYee)
GV-2 o® GVv-2 ol
‘ 237x204.5 = 237x204.5 ‘ - =
(i% Qo | LT @ SRS 2 s
[ B v o o il I”/J S
*AXQEQEl 200
1080195, 2380 195195 2380 195 100100
“100" TR0 0
On Neme Garage F GV2 595x575 70 *Y G0188-70
A —
i‘i E”ﬁ i.-.[ SE} 24 g_} Drawing/Zeichnung Plan_GrUndplan Format A4
Profile/Profil 7 OX13 5 Scale/MaRstab 150 Date 22 09 2023




5530

5730

AT3
o~
=
<
2160 e 2160
10
o
=}
0
~N
o
= AT2 jr‘~ ,\q@ AT2
<<
o
=}
0
~N

OQ

DO

hansa2

0

Nome Garage F GV2 595x575 70 *Y G0188-70
Drawing/Zeichnung P|aﬂ_Grundp|an Format A4
Profile/Profil 7OX135 Scale/MaRBstab 150 Date 22092023




AR

AR
AR

AR

AR

AR

Parapet - Blende 5989

Parapet - Blende 3075

Parapet - Blende 3075

24

Name

Garage F GV2 595x575 70

*YG0188-70

Drawing/Zeichnung

Roof Boards_Dachbretter

Format A4

profile/Profil 7 0x13.5

Scale/MaRstab

1:50

Date

22.09.2023




Pos Model Pee Praofile |Lengfh
Garage F GV2 595x575 70 (mm) (mm)
Nofice! The gable pieces can be parfly pre-assembled!
Please nafice - fhase differ from the descripfion given in the specificafion list
Achtung! Die Giebelbohlen kannen feilweise schon vormontiert sein!
Biffe beachten - diese erscheinen nichf ganz so wie in der Teileliste beschrieben
\/— Cuf into length on site (if needed)! / Bitte selber anpassen (falls notig)!
003 f 2 R an | 1| 70x135 | 5950
001 AL - 90 2| T0x135 | 6150
002 KL — 2901 ] 10135 | 6150
003 0 s ! s 5| 18| 70x135 | 5950
004 O 4o T e — | 1| 70x135 | 5950
005 [t e g e | 1| 70x135 | 5950
006 O o : = | 1| 70x135 | 5950
007 2, an . am 2| 1] 70x68 | 5950
08 | g L — g — 9| 1| 70x130 | 5950
09 | o & 1 - 1 25| 1| 70x65 | 5950
010 - x g x £ | 1| T0x35 | 5950
o | g B o g o | 1| T0x35 | 5950
012 it < ! < 0 20| 70x135 | 5750
013 (ot =L ! =L —0 1| 70x135 | 5750
01t i BE g —_ s 10 | 70x135 | 4320
015 — L — 1] 70x135 | 4320
016 G L 1| 70x68 | 2940
017 wn 20 2| 70x68 | 2940
018 P L | 70x135 | 520
019 10200 26| 70x135 | 470
020 10200 8 | 70x135 | 470
021 U 30 | 70x135 | 470
022 02 2| 70x68 | 470
023 R 15 | 70x135 | 470
024 e Lo| 70x135 | 470
025 2 1] 70x68 | 460
Kood  Garage F GVZ 595x575 70 Materjal File  G0188-70 Garage F EW@H&‘QBXWB 70 dw



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
1/6

AutoCAD SHX Text
G0188-70 Garage F GV2 595x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
6150

AutoCAD SHX Text
200

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
200

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
6150

AutoCAD SHX Text
200

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
200

AutoCAD SHX Text
003

AutoCAD SHX Text
18

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
100

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
100

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
100

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
100

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
5950

AutoCAD SHX Text
100

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
1

AutoCAD SHX Text
70x130

AutoCAD SHX Text
5950

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
009

AutoCAD SHX Text
1

AutoCAD SHX Text
70x65

AutoCAD SHX Text
5950

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
011

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
012

AutoCAD SHX Text
20

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5750

AutoCAD SHX Text
100

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
013

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5750

AutoCAD SHX Text
100

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
014

AutoCAD SHX Text
10

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4320

AutoCAD SHX Text
1410

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4320

AutoCAD SHX Text
1410

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
016

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
2940

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
017

AutoCAD SHX Text
2

AutoCAD SHX Text
70x68

AutoCAD SHX Text
2940

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
018

AutoCAD SHX Text
4

AutoCAD SHX Text
70x135

AutoCAD SHX Text
520

AutoCAD SHX Text
350

AutoCAD SHX Text
100

AutoCAD SHX Text
019

AutoCAD SHX Text
24

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
100

AutoCAD SHX Text
300

AutoCAD SHX Text
020

AutoCAD SHX Text
8

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
100

AutoCAD SHX Text
300

AutoCAD SHX Text
021

AutoCAD SHX Text
30

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
100

AutoCAD SHX Text
300

AutoCAD SHX Text
022

AutoCAD SHX Text
2

AutoCAD SHX Text
70x68

AutoCAD SHX Text
470

AutoCAD SHX Text
100

AutoCAD SHX Text
300

AutoCAD SHX Text
023

AutoCAD SHX Text
15

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
100

AutoCAD SHX Text
300

AutoCAD SHX Text
024

AutoCAD SHX Text
4

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
200

AutoCAD SHX Text
200

AutoCAD SHX Text
025

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
460

AutoCAD SHX Text
195

AutoCAD SHX Text
195

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
- Cut into length on site (if needed)! / Bitte selber anpassen (falls nötig)!

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
100

AutoCAD SHX Text
2770

AutoCAD SHX Text
2770

AutoCAD SHX Text
100


5 Model 5 Profile |Lengfh
o Garage F GV2 595x575 70 ' mm) | (mm)
026 e 7| 70x135 | 460
027 ToHID 2 | 70x135 | 460
028 Bl 6 | 70x135 | 460
029 e 2| 70x68 | 365
030 [t 30| 70x135 | 365
031 7 8 | 70x135 300
FOUNDATION BEAMS (impregnated) - FUNBAMENTHOLZER (impragniert)
AT3 2 70x95 5730
FOUNDATION BEAMS (impregnated) - FUNBAMENTHOLZER (impragniert)
ATI 2 T0x95 5390
FOUNDATION BEAMS (impregnated) - FUNBAMENTHOLZER (impragniert)
AT?2 — b 70x95 290
PURLINS - PFETTEN
PRI & 2 i 2 T | 6| T0x145 | 5950
ROOF BOARDS - DACHBRETTER e/ /5 b3+2 113x18 3786
ROOF BOARDS - DACHBRETTER o/ ///// /5 | 53| 113x18 | 2266
12.3
RLIOT-1| Eave slat - Traufenleiste 18x40 \/ VA 18x40 | e
KAR1-1| Parapet - Blende 336 ﬁ[g L | 18x336 | 3075
AR | Parapet - Blende 336 ﬁ[ 2 | 18x336 | 5986
26
SAR | Parapet cover - U-Profil fir Blenden \V4 % Lax65 | S
Kﬁ? Parapef supporf - Blendestutze 4Lx65 m 8 LLx65 200
KAR | Parapet ting slaf - Blende- Verbindungsleist e 1l 20 | 330
L1 arapet- connecfing slat - Blende- Verbindungsleiste ;/j 18x120
e | Support post - Stitzpfoste 120x120 v2 7 A0 | 1| 120x120 | 2160
T-strip - T-Leiste 70 & 6 480
T-strip - T-Leiste 70 @ 2 1965
Uv1 Mefal bar - Metallstange 910 Q ) |2 @10 1310
Uv? Metal bar - Mefallstange 210 Q )1 10 a10 1170
PJ02 | Adjustable post support - Verstellbare Pfostenstufze M20 ﬁ 1
LK Hit block - Schlagholzer @ 3
Kood  Garage F GVZ 595x575 70 Mater jal ‘ File  G0188-70 Garage F EW@TBL%XT/% 70.dw



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
2/6

AutoCAD SHX Text
G0188-70 Garage F GV2 595x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
026

AutoCAD SHX Text
7

AutoCAD SHX Text
70x135

AutoCAD SHX Text
460

AutoCAD SHX Text
195

AutoCAD SHX Text
195

AutoCAD SHX Text
027

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
460

AutoCAD SHX Text
195

AutoCAD SHX Text
195

AutoCAD SHX Text
028

AutoCAD SHX Text
6

AutoCAD SHX Text
70x135

AutoCAD SHX Text
460

AutoCAD SHX Text
195

AutoCAD SHX Text
195

AutoCAD SHX Text
029

AutoCAD SHX Text
2

AutoCAD SHX Text
70x68

AutoCAD SHX Text
365

AutoCAD SHX Text
100

AutoCAD SHX Text
195

AutoCAD SHX Text
030

AutoCAD SHX Text
30

AutoCAD SHX Text
70x135

AutoCAD SHX Text
365

AutoCAD SHX Text
100

AutoCAD SHX Text
195

AutoCAD SHX Text
031

AutoCAD SHX Text
8

AutoCAD SHX Text
70x135

AutoCAD SHX Text
300

AutoCAD SHX Text
AT3

AutoCAD SHX Text
2

AutoCAD SHX Text
70x95

AutoCAD SHX Text
5730

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x95

AutoCAD SHX Text
5390

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
4

AutoCAD SHX Text
70x95

AutoCAD SHX Text
290

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
6

AutoCAD SHX Text
70x145

AutoCAD SHX Text
5950

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
53+2

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3786

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
53

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2266

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
12.3

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
4

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3075

AutoCAD SHX Text
KAR1-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
5986

AutoCAD SHX Text
KAR

AutoCAD SHX Text
1-2

AutoCAD SHX Text
Parapet cover - U-Profil für Blenden

AutoCAD SHX Text
44x65

AutoCAD SHX Text
26

AutoCAD SHX Text
KAR

AutoCAD SHX Text
2-1

AutoCAD SHX Text
Parapet support - Blendestütze 44x65

AutoCAD SHX Text
8

AutoCAD SHX Text
44x65

AutoCAD SHX Text
200

AutoCAD SHX Text
KAR

AutoCAD SHX Text
3-1

AutoCAD SHX Text
Parapet- connecting slat - Blende- Verbindungsleiste

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
330

AutoCAD SHX Text
KAR

AutoCAD SHX Text
4-1

AutoCAD SHX Text
Support post - Stützpfoste 120x120 v2

AutoCAD SHX Text
1

AutoCAD SHX Text
120x120

AutoCAD SHX Text
2160

AutoCAD SHX Text
TP1

AutoCAD SHX Text
20-1

AutoCAD SHX Text
T-strip - T-Leiste 70

AutoCAD SHX Text
6

AutoCAD SHX Text
480

AutoCAD SHX Text
T-strip - T-Leiste 70

AutoCAD SHX Text
2

AutoCAD SHX Text
1965

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
1310

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
10

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
1170

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
PJ02

AutoCAD SHX Text
Adjustable post support - Verstellbare Pfostenstütze M20

AutoCAD SHX Text
1

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


5 Model 5 Profile |Lengfh
os Garage F GV2 595x575 70 Sl mm) | (mm)
957001 Nails - Nagel vierkanft 2.5x50 for ceiling boards - fir Dachbreftter =————=] 1060
égdg Screws - Schrauben 3.0x30 for eave slats - fur Traufenleisten ammmny] | 2L
KR-0 | Screws - Schrauben 3.0x30 for parapef connecfing slaf - fur 1
3004 | Verbindungsleiste des Blendes 16
§E§g Screws - Schrauben 3.5x45 (3 for U-profile - fur U-Profil (| | 57
KR-0 | Screws - Schrauben 5.0x100 for foundation beams - @ 37
5080 | fir Fundamentholzer
KR-0 | Screws - Schrauben 50x100 far supporf posfs - fur @ )
5092 | Stiutzpfosten
KR-0 | Screws - Schrauben 5.0x70 (3 for parapet fasfening - fur ﬂ 6l
5031 | Blendenbefestigung
KR-0 | Screws - Schrauben 5.0x70 (3 for post supporfs - fur ﬂ 8
5033 | Pfostenstufzen
KR-0 | Screws - Schrauben 6.0x140 for parapef o ‘H 16
6021 | supporfs - fur Blendestutzen
KL1 | Threaded rod - Gewindestange M8 DRI | L 2000
KL2 | Threaded rod - Gewindestange M8 QD |2 590
KL3 | Threaded rod - Gewindestange M8 DRI |1 503
KL4 | Threaded rod - Gewindestange M8 LRI | 2 L60
KLS | Threaded rod - Gewindestange M8 QLD |1 435
KL6 | Threaded rod - Gewindestange M8 ©))IIIDD) 365
Nut - Mutter M8 0 | ¢
Washer - Scheibe M8x24 8
Extended nut - Langmutter M8 b
Drive-in nuf - Einschlagmutfer M8 \'F 8
Kood  Garage F GVZ 595x575 70 Mater jal File  G0188-70 Garage F EW@HET%XBW% 70.dw



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
3/6

AutoCAD SHX Text
G0188-70 Garage F GV2 595x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für Dachbretter

AutoCAD SHX Text
1060

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3004

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for parapet connecting slat - für

AutoCAD SHX Text
Verbindungsleiste des Blendes

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3529

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for U-profile - für U-Profil

AutoCAD SHX Text
52

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5092

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for support posts - für

AutoCAD SHX Text
Stützpfosten

AutoCAD SHX Text
2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5031

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for parapet fastening - für

AutoCAD SHX Text
Blendenbefestigung

AutoCAD SHX Text
64

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5033

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for post supports - für

AutoCAD SHX Text
Pfostenstützen

AutoCAD SHX Text
8

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
6021

AutoCAD SHX Text
Screws - Schrauben 6.0x140   for parapet

AutoCAD SHX Text
supports - für Blendestützen

AutoCAD SHX Text
16

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
590

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
1

AutoCAD SHX Text
503

AutoCAD SHX Text
KL4

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
460

AutoCAD SHX Text
KL5

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
1

AutoCAD SHX Text
435

AutoCAD SHX Text
KL6

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
365

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
8

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
8

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
8


Model Profile |Lengfh

Pcs

Pas Garage F GV2 595x575 70 (mml | (mm)

WINDOW 830x550 3
W5-ST0K-0XT-08300550

| W106-KT

550

y N Tempered glass - Gehartetes Glas
Opens inside - Offnet innen

KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur q

3524 | Tir- und Fensterleisten 60

Kood  Garage F GVZ 595x575 70 Mater jal File  G0188-70 Garage F EW@TBL%XWHMO dw



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
4/6

AutoCAD SHX Text
G0188-70 Garage F GV2 595x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 830x550

AutoCAD SHX Text
 W5-S70K-0XT-08300550

AutoCAD SHX Text
3

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
60


Model Profile |Lengfh

Pos Pcs

Garage F GV2 595x575 70 (mm) (mm)
DOOR 2370x2045 ?
BO-VTOR-XXX-237020L5
2310
| | Gv2
B S —— [ e
Right handed - DIN rechts
Opens outside - Offnet aussen
[ E——— =
GVO01 | Lock sef - Schloss-Kif 7

KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur q

3524 | Tur- und Fensterleisten 60

Kood  Garage F GVZ 595x575 70 Mater jal File  G0188-70 Garage F EW@TBL%XH/% 70.dw



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
5/6

AutoCAD SHX Text
G0188-70 Garage F GV2 595x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 2370x2045

AutoCAD SHX Text
 D0-V70R-XXX-23702045

AutoCAD SHX Text
2

AutoCAD SHX Text
GV01

AutoCAD SHX Text
Lock set - Schloss-Kit

AutoCAD SHX Text
2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
60


Model

Profile |Lengfh

Pos Garage F GV2 595x575 70 Pl am) | imm)
BOOR 880x1975 1
D5-STOR-XXX-08801975
880
‘ ‘ D103-RX
Right handed - DIN rechts
Opens outside - Offnet aussen
M=
T ‘ ‘ T
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur
3524 | Tur- und Fensterleisten |26
Kood  Garage F GVZ 595x575 70 Mater jal File  G0188-70 Garage F EW@TBL%X%W% 70.dw



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
6/6

AutoCAD SHX Text
G0188-70 Garage F GV2 595x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Garage F GV2 595x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 880x1975

AutoCAD SHX Text
 D5-S70R-XXX-08801975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
26


KL1+KL 4

Wall/Wand A va

5950

L2000 KK 4

1O R0 RO RO 10 10 R0 R0 R0 R0 R0 RO 1o M0 M0 RO o ©
2430

e == R =R R R e e e R e )

AT|

2670 L]

AT

2670 [l

2740 |

70 100
2740 |

5750

QQ
hansa24g

ame Garage F GV2 595x575 70

*“ G0188-70

Drawing/Zeichnung Wa | |/Wa nd A

Format A4

Profile/Profil 7X13 5 Scale/MalRstab 1 . 50

Date

22.09.2023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
011

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
AT3

AutoCAD SHX Text
AT3

AutoCAD SHX Text
KL1+KL4

AutoCAD SHX Text
KL1+KL4


Wall/Wand B T

5950

KL6

KL6

200 200
a H == 909 ]
':7 H *j 010
| M H H | 013
L 019 = Ll H 019
L] 019 hy Ll H o9
L o019 < | H | 019
TH S 019 & S H 019
TH ] 019 o
L 019 Ll H 019 -
Ll 020 Ll A 020 b
LH 1] 020 (11 H ] 020 o
Ll o L lH o
LAl oz L lH o
o 021 | H |02
- o =] o
LAl o L lH
Ll o L lH
L | 027 L 1 H o2
tnl 021 | 021
= T =
< <
[ | 300 | 4810 | 300 ||
10 70 70 100
é) 2740 é) 2740 d)
5750
0o Nome Garage F GV2 595x575 70 Y G0188-70
}.] a n S a 24 :j Drawing/Zeichnung Wa”/Wand B Format A4
Ak Profile/Profil 7X13 5 Scale/MalRstab 150 Date 22 09 2023



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
TP120-1

AutoCAD SHX Text
009

AutoCAD SHX Text
010

AutoCAD SHX Text
013

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
AT3

AutoCAD SHX Text
AT3

AutoCAD SHX Text
KL6

AutoCAD SHX Text
KL6

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


5950

KL1+KL2
e N P2

o
=
<o

oL

wl wl =

Wall/Wand C T o

023
023
023
023
023
023
023
023
023
023
023
023
023
023
023

T-Strip
T-Leiste

600

024
024
024
024

600

T-Strip M
T-Leiste L

600

T-Strip
T-Leiste 03

2565

2025

T-Strip
T-Leiste

|
e S S Vy [rco e oy e R S I NI

960 | 300 | 910

[200] |200]

910

AT

| 300 | 910 | 350 |]

2740

70

|

70 100
2740 |

®

5750

Wall loags
Wandbahlen

hansa2

ame Garage F GV2 595x575 70

*“ G0188-70

0
o

Q
4

Drawing/Zeichnung Wa | |/Wa nd C

Format A4

Profile/Profil 7X13 5 Scale/MalRstab 1 . 50

Date

22.09.2023



AutoCAD SHX Text
T-StripStrip

AutoCAD SHX Text
T-Leiste

AutoCAD SHX Text
T-StripStrip

AutoCAD SHX Text
T-Leiste

AutoCAD SHX Text
T-StripStrip

AutoCAD SHX Text
T-Leiste

AutoCAD SHX Text
T-StripStrip

AutoCAD SHX Text
T-Leiste

AutoCAD SHX Text
Wall/Wand  C

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
T-Strip  T-Leiste

AutoCAD SHX Text
008

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
024

AutoCAD SHX Text
024

AutoCAD SHX Text
024

AutoCAD SHX Text
024

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
031

AutoCAD SHX Text
AT3

AutoCAD SHX Text
AT3

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2


Eve slat
Traufenleiste

U-Profile
U-Profil

Blendestitze
Verbindungsleiste

Roof boards
Dachbretffer

Blende
Parapet

/Eonne(mg slate
Verbindungsleiste

2266 3040

=2y

Wall/Wand 1 va

I
2565

2710

Ll

2779 L]

2840

70

70 700
2840 |

5950

hansa2

Q

DO

%o

ame Garage F GV2 595x575 70

*“ G0188-70

Drawing/Zeichnung Wa”/Wa nd 1

Format A4

Profile/Profil 7X 13 5 Scale/MalRstab 1 . 50

Date

22.09.2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
007

AutoCAD SHX Text
017

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1


2188

N N I B B

TP120-1

LT TUvE 1

uv

[T T T TTTTTTTTTTTTTI]
=
N
=

ATl

[ 300 ||

2840

70700

5950

2565

hansa2

Name

Garage F GV2 595x575 70

*“ G0188-70

o
_-bO-Q

0

Drawing/Zeichnung

Wall/Wand 2

Format A4

Profile/Profil

Scale/MalRstab

22.09.2023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
TP120-1

AutoCAD SHX Text
002

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
016

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
KL3

AutoCAD SHX Text
KL5

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


Wall/Wand 3 T

2266 3040 4‘/”86//@

ﬁ/ l = T —1 017 ]
= = =] = H al ad o H_ ] 00

H M M| 003
| H B H ] oos
L H ] 030 L] o028 L 030
LM ] 030 Al | 028 L 030
L1030 4 | 028 M| 030
L1030 Bl | 028 M| 030
L1030 = | 028 L1030
L H | 030 028 | H.| 030 D
L1030 027 L H | 030 &
LM ] 030 & 027 g L 030
LM ] 030 o~ 026 o~ M| 030
LM ] 030 026 | 030
LM ] 030 >|| 026 L 030
L1030 1 026 L] 030
LH 1030 026 L] 030
L1030 026 L] 030
L H 1030 026 | H.|030

029 025 029 —

| |195] 2380 [195] [195] 2380 [195] |

70 70 70100
@ 2840 6 2840 é)

5950
N SKU
0o ome Garage F GV2 595x575 70 G0188-70
Di ing/Zeich F
h a n S a 24\3@ rawing/Zeichnung Wa”/Wahd 3 ormat A4
A Profile/Profil 7X13 5 Scale/MalRstab 150 Date 22 09 2023



AutoCAD SHX Text
Wall/Wand  3

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
017

AutoCAD SHX Text
025

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
028

AutoCAD SHX Text
028

AutoCAD SHX Text
028

AutoCAD SHX Text
028

AutoCAD SHX Text
028

AutoCAD SHX Text
028

AutoCAD SHX Text
029

AutoCAD SHX Text
029

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


